CERTIFICATE OF REGISTRATION # F—11852

[
Wy oy
POWERED BY|JW, P G T
; ...Q.g__ ‘:‘““.‘04? II E;: g H
i Vo d %b‘ ’2. -.0 e £ "y z
Z37 izt 359 J[8u B &
1 ZY N\ 108 St alul 2,5 @
® " p’ : iie E: Nl e ple= 4
74.44" MAX. FRAME WIDTH .:,“é‘ i of M gg Eo® 3
DOOR COMPONENTS MADE IN THE USA 0" % A ) € 28 9
U Sl |7 d
gt s PR Zow
’h!‘s"";%i.&@@“y & 8 23 g
o O 52 1w
ﬁ g gm e ©
= A [a]
I D H / / F 32 %
/ / 2 § m
Glazed Steel Door J J LS
; ; E X
0
Q

"NON-IMPACT"

INSWING / OUTSWING

g 2
£ Z
z b "
23 55
T 5 nZ
o Ll
2 2 oF
r Y -
T Z k]
: ¢ g og
< D > < O
2 E X X = = e
< g e i W ol @,
O S 1721 | Ly
"z o . <| 3
< % 5 xl 27
s < 8 ol &y
z = Q o t ‘6‘2’
& L e g
EVALUATED FOR USE IN THE STATE OF TEXAS ; NI / o/ o a
The Glazed Steel Door system described herein complies with the 2018 EN / / ool
International Residential Code (IRC), Sections R301 & R60% and the 2018 /// // ] I e ]
Infernational Building Code (IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 | / / wl
subject to the following conditions: N S| |2
wla
1. Anchors shall be as listed and spaced as shown in the details. Anchor z e % S .
embedment to base material shall be beyond wall dressing or stucco. = S Zlz|=
2. When used in areas requiring wind-borne debris protection this product is | o|D|y o o 2
required to be protected with an impact resistant covering that complies o || g‘ z| 15
with Section R301.2.1.2 of the IRC and Section 1609.2 of the IBC. El” 225 |2
3. Allowable design pressure requirements must be equal to or less than the L"é ol 5 5 é
design pressure rating shown in the design pressure chart, sheef 1 of this 9 : g ; é(;
drawing. Zizlo
4. Conditions not covered by this drawing are subject to further engineering ‘Q 2 Z 2 @
analysis. < > Q]2
2 Iofinls
TABLE OF CONTENTS NN
— )
SHEET# | DESCRIPTION N IRINSIS
1 Typical elevations, design pressures & general notes XX INSWING +350 '400 "'400 '45~O Y el .
2 Astragal details {Uimate Multi-point] PINE < [mla|=I2
3 Asfragal details {Ulimate Huricane) XX OUTSWING +60.0 -60.0 +40.0 -40.0 oaTE: 8/08,/12
4 Door panel details (lip lite insert glazing] SAE. . N.T.S.
5 Horizontal & vertical cross sections XX INSWING +35.0 -40.0 +40.0 -45.0 p— UK
6 Vertical cross sections "FusionFrame" p— [FS
7 Frame anchoring XX OUTSWING +50.0 -50.0 +40.0 -40.0 DRA,;,,NG. No-
TX—4209

sHEET 1 oF 7

R:AClients\Endura PERMANENT\B - Texas Dept of ins\TDI - DR-586 Therma-Tru Steel\Drawings\REV 2018 [BC\TX-4208-09.dwg, TX-4209

© 2012 R.W. Bul.DiNG CONSULTANTS INC,



ON| BANVLINSNOD aNIging 'm°ed 2102 @]

SNOISIATY
Z58L1—d # NOLVAHISIOIN 40 IUVOLLNEO (INIOJ—1LTNW ILYALLTN) T VT TON| | | ol o 7_
SYIINIONI TYNOISSIJ0N¥d 40 QuVOE SvXAL SVL3IA TWOVHLSY STl TS _ONIYINOILYEY_d3dav| #1/90/1 | 1 | 9 S|l 3.
L g o ‘ATBWISSY 80 I8V [S31] 38N1dv0 Nid TYORLSY M3N_0av] S1/5/S | 2 | | 90
O Sl o o m\h\w@. SE] STIOHSIMHL TWNOWLIAGY 0av| 8L/S0/6 [ € 101 =| | |€ 1 |«
“ONI ‘SINVLINSNOD ONIgTNG 5600 5u,/38 8102 OL 3.1vaan %) E|Elg X o
VINAand S41 % NOIdO  swoijuoisny, aavleL/61/et| ¥ |w |4 $|g|3 B
€ZIYOL# "3'd SVX3IL —— AT -
‘B'd IPIUYSS ‘4 Uopuhl :Ag peundesd sjuewinsog 110NA0¥d
WOLLOg
o ¢
o |
» Taesenstt et “ f 7
. ! AT E@.aﬁ -
- g * O
p- 3]
$ o
..hOaﬂ_. . -
Oy > m Yl il = &—l}
by 65 i :
u...ﬂ.ﬁﬁ.?.ﬂ?). : = -
g5
= -
e <3
3 = (28]
83 o A
3 3 . |
2 o [ W84
] o |D * c
? N - §
S 3]
|8 L) 8
L] 5 S
= N S
3 2 ) * m
b &N . =
™
=2 3 mL <
z o
Q
Ih L.
Z
z ] .
22 g 59T
P < Q
Q 9]
z o]
=z e
LLi L
[2%4
] <
it =z
o o)
2 %
Q T
z
<
i 2
in o
N~ z B
T 8 = Q)
.*( in & O A
~ ~N s m
el (1 : 3 2
S _ ed (7] W M
[0 — W -
& S o F %
O i
28z 8
5 0 x 2
4ol I =
Q@ T H 2
gEE
o F 3
_._WL v QL
o =< 2 -
= O % [e0]
Q4 Q 3*
Mm m ()
> = 1%
o= r = wed
=r 2 & <
o~
S = 8 O
/ © Q <
5 m c ol
8 2 ; e 5
o i - =
o o £ E —
\ (SR 9 2 —~
- A E— ) > ‘ ' ~
l\ &/ X '.sl”!..a‘a i w w m W
— - 5 a5
5 2 S )
(e} o0
£ 3 2 =
= . 2 : 2
32 5 E
< B a = e
e 8w £
8 <5 2 =
2 §” £ 5
M o < -
5]
o
5 . ' AN
A N G = o e w— R e —— | S

2-2 'BMP'60-802F-X1\D8I 8L0Z ATY\SBUIMRIQ\|391S NIL-BWIRYL 985-YA - [AL\SUI 40 3daQ sexa] - S\LNINVINYId eInpuz\siudid\y



TON| SINVLINSNGOD aNIaTung ‘m'sl 2102 @

SNOISIATY
2681 L—4 # NOLWMLISIOFY 40 ILvOoldliy3o DZ~OQIC.|_D§ m:«‘SEQDV -
SHIANIONT TYNOISSIJ0Hd 40 Quvos SvX3L A8 ALVA [ONfoy| | ~
616°639°CLE ON SO STVI30 WovellSy S IS _ONLYINOLLAY 0300v] #1/90/1 ] | 1431 m 3 F_
G6SEE i oot Gcr X8 o \SV ATGNISSY ¥O 1¥vd | 511 I8NIdVO NId TOVEISY MGN Qv 61/5/5 | ¢ | 9| AR
"ONI *SINVLINSNOD ONIGNg g SJ1 SQIOHSIYHL TYNOLIAaY dav] 81/s0/6 | £ | B g 1 3_
3000 Dd1/081 8102 01 31vadn @ & h|g =
SZTI¥OLF T'd SYXAL V4NAN3 S41 ® NOIJO_,8Wpijuoisny, aavlel/61/zl| ¥ | u m s|g|2 m
A'd WPIUYDS "4 uopuin kg petodeld sjuewnoog 10N30Yd SI8181515% b
°2: 5/ 5
NN 1%
P ﬁﬁ%a.e i ~
%. a,w.v GBS AR 7 w
il ...0\ .w» b pv4
Rl A% A RS o} &
“ﬁ\ooqo.«n:-ohaco-..a.-nw zooz\f “nw % i 2
3 LOINHOS = Lo 22 S
R ixg 82 53 2
~I .OC L 2t I ¥ P~ —t
WF i R WOLLOg B
Qg B gt AV 2 a
-...~ 31 30 255 -
wyw-)uuurl?‘( m
e ]
1 oSt S
X _- ol D
- ]
x
=
3
v
. = 2
. E
< © 7_.
= >
€0 IV_ Tl oy
2 S 33
2 =z
S = Sullell= 35 x5
o) - < chi << @
ot @] wl L =
z o - o i
i) — in o 7]
o [¥N] OI. A v
S oz <
2 < 5
[2%4 H z =\ <
3 B =
= + LI _.N
< <
=
=0
Z
% 2 o 2
= ] O |
- o =z o <€
nr | = < =
| Z|Z m O
A m o o
(= = B
U . T «Q )
j Q|2
i Py
._m.olL _Al
-
T z
Q
— [
w — ) o
) 4ol . d * J 5
- . —
=3 \ o <
o » 2
v Q) N‘ <
L ~a / 3 5 =
s (%0}
i < o0 3 2 <
g2 S <
Q.
o = S9°T - %
oz 2 e
& 3 v
s B W A
2 LU
[+°4
o pd
S} <C
3 O
T 2 o
[N
o = = o 0’4
® Y bl
<Q 2% T
o QO B9 LLI
e & o o
g= &2 AMn
LLS
o= =
—
-
D » - D.V

2-€ 'BMp60-802r-XL\D8I 8102 AJ¥\sBumeIq\[3831S Nil-euiay] 985-4d - 1QL\SU] J0 3daq Sexal - S\LNINVINUId BINPUI\SIUSID\Y



Ri\Clients\Endura PERMANENT\B - Texas Dept of ins\TD! - DR-586 Therma-Tru Steel\Drawings\REV 2018 IBC\TX-4208-09.dwg, 4-2

— 1.24

)/

e r—

o

I

\SW g

INTERIOR

[/
17

EXTERIOR

D)

N

28"

e —

2LV L

Y

Z 24" LONG

LOCK BLOCK

(WOOD)

7“1\ HORIZONTAL CROSS SECTION

4/

HINGE STILE
(WOOD)
36" MAX.
PANEL WIDTH
21" MAX
D.L.O. WIDTH S
4
ol —
= o
85 %0
3z =%
sg &0 7 X
P4 —
%% o
w
SEE HARDWARE
TABLE

b

THERMA-TRU
insert glazed
{steel)

#6 X 1-1/2" PH SM$

INTERIOR

_

%

1L

IL

EXTERIOR

GLASS BITE7/16"

[

1/2" NOMINAL GLASS THK.

1.24" b=

LOCK STILE
(WOOD)

1/8" TEMPERED GLASS

LOW TACK SEALANT

GLAZING DETAIL
Lip Lite Insert Glazing

/L

_— AR SPACE

~~—1/8" TEMPERED GLASS

STEEL SPACER
Q'SO SEALANT

KWIKSET

LATCH:

DEADBOLT: SIGNATURE SERIES (980/985)

SIGNATURE SERIES (991)

,\,""‘“?3\‘:11?1111
A'?'y*': (o] i,.., 3y, li
forgd ot e 30, 4’/ 22
ry % » 3 2 H fe ‘9 i
175 CRRE RO
ol oie e
TOP RAIL 1- cn ».:: z.‘; ‘\4
(COMP) e sERIsiS §24(
S D, it &
ey s AV i S
Ve (XN ;'O : .
i eelf . n..:i g' Q‘~ ‘ t‘
: Qpxxisd &
o o o™
. S
FOAMCORE —~__ |
{POLYURETHANE ) \ :
INTERIOR EXTERIOR
24 Ga. STEEL SKIN —\ ,‘ '
&
BOTTOM RAIL o
({COMP.)

7“2\ VERTICAL CROSS SECTION

\4/

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.0. Box 230 Vuairico FlL. 33595
Phone No.: 813.659.9197
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.
CERTIFICATE OF REGISTRATION # F—11852

Documents Prepared By

ENDURA
DOOR_PANEL DETAILS
(LIP LITE INSERT GLAZING)

PRODUCT:

LFS

LFS
LFS
BY

UPDATE TO 2018 IBC/IRC CODE
REVISIONS

5/5/15 |ADD NEW ASTRAGAL PIN CAPTURE [LFS| PART OR ASSEMBLY:

9/05/18 |ADD_ADDITIONAL THRESHOLDS
1/06/14 |IADDED ARTICULATING SILL

12/19/19]ADD “FusionFrame” OPTION &

M N~

4

NO.| DATE

ATE: 8/08/12

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4209

sHEET 4 oF 7

© zo12 R.W. BUILDING QONSULTANTS ING.



R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-586 Therma-Tru Steef\Drawings\REV 2018 IBCQ\TX-4208-09.dwg, 5-2

2X FRAMING
(G >=0.42)

EXT. SHEATHING

1/4" MAX.
SHIM SPACE

~—

N\

2

¢

\

4

£y

.

RN

A\

/" 2"\ VERTICAL CROSS SECTION

/1 o
i . DOOR PANEL
W S
i
/ /
/ / EXTERIOR
/// /// EXTERIOR
/ /
D d
(43 N/ 2\
copepies NS % i
e EXT. SHEATHING \\
075' —=—=| 075" ‘}"“1 =075 ===
COMPOSITE 2X FRAMING 7177 444707 L
SNAP-ON (G >=0.42)
CAP

4.56"

EENHNBE

——»l 1.25" l‘-‘_.,

1.25"

JAMB /HEAD JAMB / HEAD

PINE
(1-PIECE)

"FusionFrame”

1.25"
JAMB

——

"FusionFrame”
{2-PIECE)

W Outswing shown - inswing also approved

0.18"

—] |=— C'SINK

(TYP.)

/“3"\ VERTICAL CROSS SECTION
\y Quiswing shown - inswing also approved

1/4' MAX.
SHIM SPACE
JAMB: “FusionFrame”

2X FRAMING oy
(G>=0.42) DRYWALL S W

- DRYWALL e S5 4y,
\K TR \‘. : PR """?@(1 3
\ i1 / ‘:':, \ gk‘?f?’ g P -?I-l N
EXT. SHEATHING [}/ v % @iN wog >
T £ oo oi L, 2 > 4
o , e o, 191 Fe
L ) Q R [a] .‘..-‘ g
MRS ) L] 3}1 ;'u.‘ g :,.A- %0%
|~ #10X2-1/2"PFH Ui § Ye©
1" WOOD SCREW ’ it

T — ™ #10X 3" PFH
L. O
S5E 14 MAX. — WOOD SCREW
SHIM SPACE
) 2000000
? DOOR PANEL
HEAD: PINE \ HEAD: "FusionFrame” (1-PIECE)
ENDURA WEATHERSTRIP ENDURA WEATHERSTRIP
(QEBD/PE 650) (QEBD/PE 650)
INTERIOR EXTERIOR \\) INTERIOR

EXT. SHEATHING

DRYWALL/ /

#8X2-1/2"PFH
WOOD SCREW

#8 X 3/4" PFH SMS

4"HINGE

WOOD SCREW
/1 "\ HORIZONTAL CROSS SECTION

W Inswing shown - Outswing also approved

(1 OR 2-PIECE) /
/ JAMB: PINE \
, #10X 2-1/2" PFH fﬁ e
#10 X 2-1/2" PFH
WOOD S/CREW WOOD SCREW
ULTIMATE HURRICANE ASTRAGAL
ULTIMATE MULTIPOINT ASTRAGAL
ENDURA WEATHERSTRIP 2X FRAMING
(QEBD/PE 650) ENDURA WEATHERSTRIP (G >=0.42)
v / DOOR PANEL (QEBD/PE 650)
B o
#8X 1"PFHSMS  #8X3"PFH LATCH #8 X 1" PFH SMS sex21/2 P DN WAL
WOOD SCREW ,  + 1 ppy STRIKE PLATE HNG WOOD SCREW

#8 X 3/4" PFH SMS

Lyndon F, Schmidt, P.E.
TEXAS P.E. #104123

P.0. Box 230 Vairico Fl.. 33595
Phone No.: 813.659.9197

TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.
CERTIFICATE OF REGISTRATION # F—11852

Documents Prepared By

<
%)
=W
&8
==
<
x B
> > )
IEE
Q 5’5%
0l QX
< SO
T
3 o T
o £
oz <€
[a R a
ol I P T Al b
- i fas]
Wl
sl |15
I[OCin|E
z|2[31S
(o]} —
ENIiziS
a|O|hIFI5
Ojmfty 75}
N 1 1 I 4
o2 F3IE| O
EOJ(S [72]
o|lN| <
< <|§D >
L"Q%U)O Lt
SN
(n[_u‘
,_EI—SEQ:
:é(ZS
o|%|eela
s S]]
<| (<<
g ©lol¥
N
2 1Blol8l%
\O
N AN
~lo
< M N =
pATE: 8,/08/12
SCALE: N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4209

SHEET 5 oF 7

© 2012 R.W. BUILDING CONSLILTANTS INC.



Ri\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI| - DR-586 Therma-Tru Steel\Drawings\REV 2018 IBC\TX-4208-09.dwg, 6-2

\\
INTERIOR /( EXTERIOR
DOOR PANEL
-
ENDURA
DOOR SWEEP
/ (DBK-R)

1)12

T

A\
INTERIOR /\’ EXTERIOR
DOOR PANEL
ENDURA \
DOOR SWEEP
(DBK-ZAC) X '

4)5

B “‘-\.‘%\‘.\1“
Snt sl
ENDURA Fori 2y
WEATHERSTRIP /L DOOR PANEL EACER LN A)
(QEBD/PE 650),  NTERIOR DIROR kA FUAT RN Y
5 — M 1o Gi=Eg
WEATHERSTRIP,_  INTERIOR EXTERIOR f%% 1D oo
(11Y12)13) (QEBD/PE 650) b ioh Eé
4'?(,6’"'., E% ': ....' )
ze“(& ’OA»..:}' E' Q:»T'
2;1 ks 3 e
D o™

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/ 1"\ VERTICAL CROSS SECTION
\6/ Inswing Adjustable Threshold

INSWING ADJUSTABLE THRESHOLD

LAIL4565

e

! 4.56"

INSWING ARTICULATING THRESHOLD
IACLA4565

MAX. DESIGN PRESSURE = %35 PSF

6

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR [TW CONCRETE SCREW

72"\ VERTICAL CROSS SECTION

#10 X 2.5 PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/"3 VERTICAL CROSS SECTION

#10 X 2.5' PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/ 4"\ VERTICAL CROSS SECTION

&/

=y

w/ Pin Capture

|- 1.38"

! 4.5¢" !

@ INSWING ADJUSTABLE THRESHOLD
ZAI4565FN

MAX. DESIGN PRESSURE = +30/-35 PSF

AR
4.5¢" I

INSWING ARTICULATING THRESHOLD
ZACA565FN

MAX. DESIGN PRESSURE = +30/-35 PSF

7

Inswing Articulating Threshold

\U Qutswing Bump Threshold

\U Outswing Bump Threshold

i | i | _
! 4.54" ! 4.5¢" i 456" !
3 )INSWING ADJUSTABLE THRESHOLD 4 }INSWING ADJUSTABLE THRESHOLD 5 ) INSWING ADJUSTABLE THRESHOLD
ZIAILAA4565 ZAIAAAS65FN ZAI4565RDS
MAX. DESIGN PRESSURE = +30/-35 PSF MAX. DESIGN PRESSURE = +40 PSF
% %
L R B
! 4.56" ! 456" ! 456" ,
g }INSWING ARTICULATING THRESHOLD 9 )INSWING ARTICULATING THRESHOLD 10 ) NSWING ARTICULATING THRESHOLD
ZACLAA4565 ZACAA4565FN ZACA565RDS
MAX. DESIGN PRESSURE = 35 PSF MAX. DESIGN PRESSURE = +30/-35 PSF MAX. DESIGN PRESSURE = +35 PSF

I ) I o) l
fi= - [k [l -
| { | i =2
| 456" ‘ | 456" | e ————»l | 456" l
17) QUISWING THRESHOLD 12) OUTSWING THRESHOLD 13) QUISWING THRESHOLD 12 QUISWING THRESHOLD
ZOBL4565 ZOB4565FN ZOB4565RDS FOB4566

MAX. DESIGN PRESSURE

=55 PSF

W,
B oy
£3 0
o o
Ev— 0 il 1)
Ex e Nk
[ 19 Z"
Wlod ¢ o7
. z . N 5!1-
w
. SE?
s E.5
3 Z9 Z2Z
e =2£B 69
2 dpe 8E
23K @E
%o'_
s 9n% 8o
@ O N - o o
o
x hd
k] (.'IOZ W
] Zmn Ol
' -4 o
2 3.5 o
® Fo& ZE
o 85
: R
5 E
[ tul
£ o
0
O
o
"
=
o
o
Lt
N
& n
) w0
I o
= [\
] O
3
©
. =
g &
2 s
Ie)
&
o
%] wn U)>._
] B B Bt B 1)

UPDATE TO 2018 IBC/IRC CODE

5/5/15 |ADD NEW ASTRAGAL PIN CAPTURE | LFS | PART OR ASSEMBLY:

9/05/18 JADD ADDITIONAL THRESHOLDS
1/06/14 |ADDED ARTICULATING SILL

12/19/19]ADD "FusionFrame” OPTION &

—

4

MmN

NOJ DATE

REVISIONS

oATE: 8,/08/12

scale:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4209

SHEET 6 oF 7

© 2012 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-586 Therma-Tru Steel\Drawings\REV 2018 |BC\TX-4208-09.dwg, 7-2

HEAD ANCHORS:

g w Z #10 X 2-1/2" WOOD SCREW (PINE JAMB) _ Sk E.:i 33;%@‘,
g0 2( FRAMING #10 X 3' WOOD SCREW (1-PIECE JAMB) Astragal Strike Plate Lo i T i
& 9 % (BY OTHERS) (E 2,. @ Head Jamb ,.a‘\g:._. :;'I. : - &.’ﬁ) {)
s 8 \ - ’l I* ) o %K%s: P
6" [—;]/ wi iwiy &io
% - l {TYP.) = o © P :\D& %« STy
Tl SEEHINGE , S, N w2 1R s &%
y T - #10X 2.5" PFH WS Moed™
= SEE DETAIL 1 s o
s CE DETAIL 1
9 I 1
3 f \| JAMB ANCHORS:
N #10 X 2-1/2" WOOD SCREW {PINE/2-PIECE JAMB)
#10 X 3" WOOD SCREW (1-PIECE JAMB) \\ ”
N ) ) o #8 X 2-1/2" PFH WS
o ’ I T L1
| ) SEE HINGE s < <
3 DETAIL 2 #8X1"PFHWS&=fe [ ol I #8 X 3/4" PFH WS
| "1— 4"X 4" HINGE
I \
SEE DETAIL2 OR 3
/ | ¥ N | & HINGE DETAIL 1
ER \ ,(
W ; #8 X 2-1/2" PFH WS
SILL ANCHORS: L
4 QYHP”)"_-_J #10X 2-1/2" PFH WOOD SCREW *H
' 2" (TYP. 1/4" X 2-3/4" ELCO OR " s .
HINGE JAMB  FLOOR SUBSTRATE MATERIAL ¢ B e #8 X 1" PFH WS 41. | =~ #8X 3/4" PFH WS
CONCRETE {MIN. 3000 PSl) ~— 4" X 4" HINGE
WOOD (G >=0.42) FRAME ANCHORING
XX
JAMB NOTES:
THE PINE OR "FusionFrame" 1-PIECE JAMB MAY BE INSTALLED @ THE HEAD OR SIDE JAMS. % NOTE: THESE ANCHORS REQUIRED HINGE DETAIL 2
THE FusionFrame” 2-PIECE JAMB MAY BE INSTALLED @ THE SIDE JAMBS ONLY. FOR D.P. > 40 PSE.
CONCRETE ANCHOR NOTES:
1. Concrete anchor locations at the corners may be adjusted fo maintain the min.
edge distance to mortar joinis. wy A
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted o 3/16" X 2-3/4 ”WO%ONCRHE SCREW ASTRAGAL PIN CAPTURE
maintain the min. edge distance fo mortar joints, additional concrete anchors .
may be required o ensure the "MAX. ON CENTER" dimension are not exceeded. #8 X 3" PFH WOOD SCREW COMPONENT (UNDER CAP)
3. Concrete anchor table: ASTRAGAL STRIKE
MIN. CLEARANCE PLATE @ SILL \ 1/2" DIA. HOLE (IN CAP)
W o\ e 7 ®
TAPCON® 3/16" 1-3/4" 3" P = = = =
l,-w 1 il i "
1apcon®| 1/ 1-3/4 1-1/2 4
ELCO . . . " u
uirRacoN®| 174 1-3/4 1 4 1/Z'DIA-HOLE pEpay 2 DETAIL 2 DETAIL 3
Outswing Inswing Inswing

WOOD SCREW INSTALLATION NOTES:

1. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of

wood screws to prevent the splitting of wood.

e
Jo/8.20

Lyndon F. Schmidt, P.E.

TEXAS P.E. #104123

BUILDING CONSULTANTS, INC.

Documents Prepared By:

P.O. Box 230 Valrico FL. 33585

813.659.8197
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

Phone No.:

G}
=
S
& I
) O
a =z
=z <
Ll L
3
o
= L
Q
2
[
(o)
1
Q.
of Telelahs
] I fuer} o]

UPDATE TO 2018 IBC/IRC CODE

12/19/19|ADD "FusionFrame” OPTION &
9/05/18 |ADD_ADDITIONAL THRESHOLDS

5/5/15 |ADD NEW ASTRAGAL PIN CAPTURE | LFS | PART OR ASSEMBLY:

1/06/14 |ADDED ARTICULATING SILL

4
3

1

o~

NO| DATE

REVISIONS

oaTE: 8/08/12

SCALE:

N.T.S.

DWG. BY:

JK

CHK. BY:

LFS

DRAWING NO.:
TX—4209

SHEET 7

oF_7_

@ 2012 R.W. BUILDING CONSULTANTS ING.



